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QUESTION 1

The customer decided to remove the Caveonix RiskForesight all-in-one service from the IBM Cloud and move to a
distributed model for VMware Solutions. By default, IBM automatically deletes only the single deployed all-in-one
Caveonix VM and the dedicated private subnet that was ordered for it. 

What are the key considerations? (Choose two.) 

A. If you used the IP addresses of the dedicated private subnet on additional VMs, those VMs must be ^ assigned new
IP addresses to continue to function 

B. Old configurations can be deleted and migrated to a new environment 

C. If you scaled out the Caveonix VM into multiple VMs, those additional VMs are not removed 

D. Delete the VM and Storage allocation, Cavenoix RiskForesight will discontinue data gathering and services are
deemed stopped 

E. Unsubscribe the license and remove the instance of all-in-one deployment in the VMware solutions, release the IP
address to DHCP, DNS servers 

Correct Answer: AC 

 

 

QUESTION 2

The Chief Data Officer (CDO) wants to build a new data solution for his clients. This application needs access to a
Spark cluster on IBM Cloud without the Spark Cluster being accessible over the Internet. If IBM Analytics Engine (IAE)
is selected, what must be enabled to allow the application server to securely access IAE? 

A. Transverse Endpoint 

B. Gateway Endpoint 

C. Service Endpoint 

D. Transit Endpoint 

Correct Answer: C 

 

 

QUESTION 3

When connecting an Application Server running on a VSI to a database server running on Bare Metal in IBM Cloud,
which of the following is the recommended connectivity option at the lowest cost? 

A. Via a Direct Link VPN 

B. Over the IBM Cloud private network 
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C. Through the public network 

D. Using VPC VPN 

Correct Answer: B 

 

QUESTION 4

The Db2 service on IBM Cloud use which type of data model? 

A. Columnar 

B. Graph 

C. Document 

D. Relational 

Correct Answer: D 

 

QUESTION 5

Which of the following IBM Cloud Paks help to accelerate the build of cloud-native apps by leveraging built-in developer
tools and processes? 

A. IBM Cloud Pak for Microservices 

B. IBM Cloud Pak for Developers 

C. IBM Cloud Pak for Applications 

D. IBM Cloud Pak for Data 

Correct Answer: C 
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